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jsecxdx:llnlim—x
2 1—sinx

.2 _ X _sin2x
fsm xdx-z i

2 _x  sin2x
fcos xd.x—2+ 3

. sin? x
sin x cos x dx = ===

fsinhxdx=coshx
fcoshxdx'= sinh x
ftanhxdlencoshx
[inxdr=xinz—x

ax

fe"dx=%

fxe'"‘dx=e—2(ax— 1)
a

fe" sin px dx = e*(a sin px — p cos px)
a’+p

fe"‘cospxdx=e (acosg;x +2psmpx)
a® +p

ax

fe“"sirﬁxdx: £ asinzx—sinb(-rg
4+a* a

ax
fe""coszxdx= € (acoszx+sin 2x+~2a-)

4+ a?
. e a .
fe"smxcosxdx: 7| 5 sin 2x — cos 2x
4 +a°\2
fsin’xdx: _co3sx(2 + sin? x)

fcos3xdx=s.£3§(2+coszx)
fcossxdx=sinx—§sin3x+§sin5x
fxsinxdx=sinx—xcosx
fxcosxdx:cosx+xsinx

fxzsinxdx=2xsinx—(xz-2)cosx

fxzcosxdx=2xcosx+(x2—2)sinx
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